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What is the quartile deviation of
normal distribution ?

1) 2/3 2) 1/4
3) 3i4 4) 1/5
5) Question not attempted

The basic parts of writing a

literature review are : (.«

(1) Introduction, Methodology and
Results Al

(2) Introduction, Body, Summary
and Conclusions ;.

(3) Introduction, {Erpothesis,
Procedure and Restilts

(4) Methodology, Results and
Conclusions

(5) Question not attempted

For a leptokartic curve the value of
Bg is
(1) Equalto3 (2) Greater than 3
53} Lesser than 3 (4) Equal to =

5) Question not attempted

Which of the following type of
research involves , the
manipulation of treatment in an
attempt to establish ¢ause and
effect relationship ?

(1) Applied Research

2) Fundamental Research

3) Experimental Research

4 gua]jt.ativa Research

(5) Question not attempted

Read the statement and answer

the question : P

Statement-I : In fhe quasi
experimental re h the
use of randomization to
control threats %o’ internal
validity is difficult.»

Statement-II : The (purpose of
T.msi experimental research

esign is to fit the design

settings more like the real
world while still controlling
as many of the treats to
external validity as possible.

Select the correct answer :

El) Both I and II are correct,.
Both I and II are incorrect.

(3) Only I is correct.

(4) Only II is correct.

(6) Question not attempted
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In which of the following type of
sampling method, population is
subdivided into smaller
homogeneous groups to get more
accurate representation ?

(1) Area Sampling

(2) Stratified Random Sampling
(3) Cluster Sampling

(4) Simple Random Sampling

(5) Question not attempted

The accuracy with which a sample
represents a population is
measured by

(1) Absolute error

(2) Standard error

(3) Index error

(4) Population index

(5) Question not attempted

Which of the following is not

correct 7

(1) The difference between the
mean, median or the mode
provides an easy way of
expressing skewness in a
geries.

(2) For positive skewness
Z<M<X.

(3) For positive skewness the test
is easy for the students.

(4) For negative skewness
X<M<Z

(5) Question not attempted

In Graphic presentation the
horizontal line is called as

(1) Abscissa

(2) Ordinate

(3) Quadrant

(4) Axle line

(5) Question not attempted
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The boundaries of the study
decided by the researcher are

(1) Limitations

(2) Delimitations

(3) Methodology

(4) Significance
(5) Question not attempted

The anticipated outcome of a study
or experiment is known as

(1) Result

(2) Analysing data

(3) Hypothesis

(4) Conclusion

(5) Question not attempted

Which sports is most popular in the
university could be best assessed
by

(1) Mean

(2) Median

(3) Mode

(4) Coefficient Index

(6) Question not attempted

There are 22 types of amino acids
in human body, out of which the
essential amino acids are —

(1) 9 (2) 10

(8 11 (4) 12

(6) Question not attempted

If a student scores 40 marks in an
IQ test and the mean score of his
group is 47 + 5, then his T score will
be

(1) 63 (2) 46

(3) 64 (4) 36

(5) Question not attempted
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(1) I.c, I1-B, III-C, IV-A
(2) 1-B, II-A, III-D, IV-C
(8) 1-C, I1-A, II1-D, IV-B
(4) I-B, II-A, III-C, IV-D
(5) i ¥
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15!

186.

ITI

18.

Match the following :

I. Tidal A. Maximum
Volume inspiration

at end of tidal

II. Inspiratory B. Volume in
Reserve lungs after
Volume tidal
(IRV) expiration

III. Residual C. Volume
lung volume inspired and

expired per
breath.

IV. Functional D. Volume in
Residual lungs after
Capacity maximum
(FRC) expiration.

Option :

(1) I-C, II-B, III-C, IV-A
(2) I-B, II-A, III-D, IV-C
(3) I-C, II-A, III-D, IV-B
(4) I-B, II-A, III-C, IV-D
(5) Question not attempted
The large size of F-T fibres allows
them to contain

(1) More Proteins

(2) More Carbohydrates
(8) More Minerals

(4) More Fats

(5) Question not attempted

The spindle covered by a sheath of
connective tissue contains two
specialized types muscle fibre called

(1) Extra Fusal Fibres

(2) Infra Fusal Fibres

(8) Intra Fusal Fibres

(4) Filaments

(5) Question not attempted

The resting, sitting stroke volume
of trained male subjects averages
between :

(1) 70 to 90 ml. per period

(2) 50 to 80 ml. per beat

(3) 100 to 120 ml per beat

(4) 30 to 50 ml. per beat

(5) Question not attempted
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19. To compete at their peak, many

22.

23.

20.

21,

athletes reduce their training
intensity and volume before a
major competition to give their
body and mind break from the
rigors of intense training. This

practice is known as L)

(1) Detraining =
(2) Tapering o
(3) Overtraining )
(4) Overreaching e

(5) Question not attempted’

Oxygen is stored mainly in the
muscle in chemical combination
with

(1) Mitochondria(2) Mpyoglobin
(3) Glucose (4) Fibers

(5) Question not attempted

Phosphagen system of Anaerobic
metabolism is also referred a?
(1) Phosphagen regulator l..
(2) High-energy phosphagens,
(3) Low-energy group 3
(4) Inorganic creatine group.(
(5) Question not attempted

The majority of evidence suggest
that the only way to effectively
change a fast twitch fibre to slow
twitch fibre is

(1) Altitude training

(2) Plyometric training

(3) Harmonal infusion

(4) Cross innervate the twofibres

(5) Question not attempted . f

The amount of blood ejected per
minute by the heart, sp&cfﬁaﬂy,
by the left ventricle is known as
(1) Stroke volume

(2) Cardiac output

(3) Heart beat

(4) Blood pressure

(5) Question not attempted
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25.

26.

27.

During rest the active site of actin
filament is unable to couple with
Myosin cross bridge because of

(1) Troponin  (2) Tropomyosin
(3) Reliculum (4) H. Band

(5) Question not attempted

Which of the following is not
correct ?

(1) Lactose = Glucose + Galactose
(2) Maltose = Glucose + Glucose
(3) Maltose = Glucose + Lactose
(4) Sucrose = Glucose + Fructose
(5) Question not attempted

Read the statement and answer

the question :

Statement-I : Unsaturated fatty
acids contain one or more
double bonds along the main
carbon chain.

Statement-II : Saturated Fatty
acid contain only single bond
between carbon atoms, with
the remaining bond attaching
to hydrogen.

Select the correct answer :

(1) Both I and II are correct.

(2) Both I and II are incorrect.

(3) Only I is correct.

(4) Only II is correct.

(5) Question not attempted

The process by which glucose is
regenerated from glycogen is called

(1) Glycogenesis

(2) Glycogenolysis

(3) Phosphorylation

(4) Hydration

(5) Question not attempted
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28.

29,

30.

Which of the following is not correct
as per sliding filament theory
during muscle contraction ?

(1) Size of the I band decreases

(2) Size of the H zone decreases
(3) Size of the A band decreases
(4) Sarcomere shortens

(5) Question not attempted

The primary neurotransmitter
for the motor neurons that
innervate skeletal muscle as well
as for most parasympathetic
autonomic neurons is

(1) Acetylcholine

(2) Norepinephrine

(3) Epinephrine

(4) Glyco-Acetylcholine

(6) Question not attempted

Read the statement about effects
of the Sympathetic = and
Parasympathetic Nervous Systems
on various organs and answer the
question :

Statement-I : Parasympathetic
nervous system causes
Vasodilation in coronary
blood vessels,

Statement-II Sympathetic
nervous system stimulates
glucose release in liver.

Statement-III Sympathetic
nervous system increases
rate and force of contraction
in Heart Muscle.

Select the correct answer.

(1) Only I and II are correct.

(2) Only II and IIT are correct.

(3) Only I and III are correct.

(4) Only III is correct.

(5) Question not attempted
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32.

33.

Read the statement and answer

the question :

Statement-1 : Vitamin C increases
intestinal non-heme iron
ab tion.

Statemgip}-ﬂ : Fat soluble
vitamins are Vitamin A, C, D
and K.

Select thé.correct answer :

(1) BothiI'and II are correct.

(2) Both I and II are incorrect.

(3) Only I is correct.

(4) Only II is correct.

(5) Question not attempted

If an athlete lifted 100 kg to 0.6 m
in 0.5 bgéund, then the power
applied éj’;}he athlete will be

(1) 120kgm/s  (2) 30kgm/s
(3) 100 bﬁmf s (4) 300 kgm/s
(&) Questian not attempted

Read the statement and answer
the question :
Statement-I : In sprinting, the H*

generated by dissociation of
lactic acid often contributes to

fati?:ﬁ?.

Statemeént-11 The H*
accumulation causes muscle
acidification, resulting in
increased blood pH.

Statement-III Bicarbonate

(HCO,) act as buffering agent
and minimize the acidosis.
Select the correct answer :
(1) Only I and II are correct.
(2) Only II and III are incorrect.
(3) Only I and III are correct.
(4) Only II is correct.
(5) Question not attempted
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The thermal regulatory center
located in a subcortical area of the
brain is known as

(1) Medulla oblongata

(2) Thalamus

(3) Corpus callosum

(4) Hypothalamus ol

(5) Question not atteml:;tﬁﬂ

The area just forward t{i.l-fi)e motor
area, cortical area 6, of the brain is
known as

(1) Tactical sports area

(2) Thalamus

(3) Sports skill area

(4) Voluntary spindles

(5) Question not attaml:!t%d

Which muscle of the. body is
commonly used in studies of
human muscle fiber t]rpiﬁig ?
(1) Bicep and Gastrocnemius
(2) Vastus Lateralis’
Gastrocnemius
(3) Tricep and Vastus Medius
(4) Deltoid and Vastus Lateralis
(5) Question not attempted

and

Sensory receptors which are
sensitive to quick movement and
deep pressure are knuwpma

(1) Golgi tendon organ (.

(2) Pacinian corpuscles | L;

(3) Muscle spindles e

(4) Motor unit L

(6) Question not attempt&d

During exercising in hot weather,
adrenal cortex releases sodium
conserving hormone known as

(1) Epinephrine

(2) Aldosterone

(8) Norepinephrine

(4) Cortisol

(5) Question not attempted
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39.

40.

41.

42,

To maintain proper concentrations
of 0,, CO,, and H* in the tissues is

the ultimate goal of :

(1) Ventilation

(2) Cardio vascular control
(3) Blood pressure

(4) Heart

(5) Question not attempted

The term bradycardia is associated
with
(1) Heart rate between 65 to 72
beat/minute.
(2) Fibrillation
(3) Heart rate
beat/minute
(4) Heart rate
beat/minute
(5) Question not attempted

The major reason why lactate
removal is faster during exercise
recovery than during rest-recovery
as most of the lactate oxidation
take place in which of the following
muscle fiber ?

(1) Type I1a muscle fiber

(2) Fast twitch muscle fiber

(3) Type I muscle Fiber

(4) Type IIb muscle fiber

(5) Question not attempted

Assertion(A) : The fast twitch
fibres are most involved in
the aging process.
Reason (R) : Fast twitch fibres
display greater fibre atrophy
in old age.
(1) Both (A) & (R) are true and (R)
is correct explanation of (A).

(2) Both (A) & (R) are true, but (R)
i1s not correct explanation of
(A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

(5) Question not attempted

than 72

more

less than 60
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43.

44.

45.

46.

The sagittal plane is also known as
(1) Lateral plane

(2) Coronal cardinal plane

(3) Median cardinal plane

(4) Frontal plane

(56) Question not attempted

The Gluteus medius muscle is :

(1) The major abductor musele of
the hip. H

(2) The major extensor musé¢le of
the hip. N

(3) The major rotator musele of
hip. g

(4) The major flexor muscle of the
hip.

() Question not attempted

Read the followings about spin and

answer the question :

I: During top spin the pressure
on the top of the ball will be
reduced. N

IT : During Back spin the pressure

on the bottom of the ballwill be
reduced. _,,g._
Select the correct answer :

(1) Both I and II are Gurrect.
(2) Both I and II are incorrect.
(3) Only I is correct.

(4) Only II is correct.

(5) Question not attempted

The point in time during exercise of
increasing intensity when the rate
of lactate production exceedp the
rate of lactate clearance or remnval
is known as ")

(1) Aerobic threshold

(2) Alactate threshold 8 o

(3) Anaerobic threshold

(4) Lactate threshold

(6) Question not attempted
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47.

48.

49.

Read the followings and answer
the question :

I1: In stable equilibrium when
force is applied in the new
position of object centre of
gravity is lowered.

Unstable equilibrium occurs
when only a slight force is
needed to disturb an object.
Ball rolls across the floor is
an example of Neutral
equilibrium.

Select the correct answer :

(1) Only I and III are correct.

(2) Only I and II are incorrect.

(3) Only II and III are correct.

(4) Only III is correct.

(6) Question not attempted

II:

III:

Read the followings and answer
the question :

The sagittal axis is a point
that runs through a joint
from inferior to superior.

The frontal axis runs through
a joint from side to side.

The longitudinal axis runs
through a joint from top to
bottom.

Select the correct answer :

(1) Only I and II are correct.

(2) Only I and III are incorrect.

(3) Only II and III are correct.

(4) Only III is correct.

(5) Question not attempted

Which of the following is not

correct ?

(1) Anterior deltoid  muscle
attaches on the outer one third
of the clavicle.

(2) Middle deltoid muscle attaches
on th+e lateral side of the
acromion process.

(8) Posterior deltoid muscle
attaches to the spine of the
scapula.

(4) Supraspinatus muscle lies
below the spine of the scapula.

(5) Question not attempted

II:
I :
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52.

53.
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(2) 3.6 Ns |
(4) 3.5 Ns |

50.

51.

52.

53.

54,

Arrange the four major curves of
the vertebral column in a sequence
from top to bottom :

(1) Thoracie, Cervical, Sacral,
Lumbar

(2) Thoracic, Cervical, Lumbar,
Sacral

(3) Cervical, Thoracic, Lumbar,
Sacral

(4) Cervical, Lumbar, Sacral,
Thoracic

(5) Question not attempted

At the knee, the semilunar-shaped
cartilage called menisci is a

(1) Hyaline cartilage

(2) Fibro cartilage

(3) Aponeurosis

(4) Elastic cartilage

(5) Question not attempted

A man who weights 150 pound,
jumps from 5 feet above the ground.
What is the potential energy ?

(1) 450 foot pounds

(2) 30 foot pounds

(3) 145 foot pounds

(4) 750 foot pounds

(5) Question not attempted

A Batsman hit back a ball straight
in the direction of the Bowler
without changing the initial speed
of 12 m/s. If the mass of the ball is
0.15 kg, determine the impulse
imported to the ball. (Assume
linear motion of the ball)

(1) 3.9 Ns (2) 3.6 Ns

(3) 3.7 Ns (4) 3.6 Ns

(5) Question not attempted

The cartilaginous joints are also
known as

(1) Gomphosis

(2) Synarthrosis

(3) Diarthrosis

(4) Amphiarthrosis

(6) Question not attempted
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57.

Eai

59,

Inclination of spine to right or left
side is known as

(1) Lordosis (2) Scoliosis

(3) Kyphosis (4) Flat Foot

(6) Question not attempted

The shape of fibres arrangement in
the Semimembranosus muscle is :
(1) Bipennate muscles

(2) Unipennate muscles

(3) Fusiform

(4) Rhomboidal

(5) Question not attempted

Which of the following hip adductor
muscle crosses two joints ?

(1) Adductor Magnus

(2) Adductor Longus

(3) Adductor Brevis

(4) Gracilis

(6) Question not attempted

The Proximal attachment
Sartorius is

(1) Pectineal crest of pubic ramus
(2) Anterior crest of ilium

(8) Anterior superior iliac spine
(4) Pubic symphysis

(5) Question not attempted

of

Match List-I with List-II and select
correct option :
List-I List-IT
I. Work A F
sy A
. Fores B. FxD
III. Power C. Ma
IV. Pressure D w
“t
Option :

(1) I-B, II-C, III-D, IV-A
(2) 1-C, II-D, ITI-B, IV-A
(3) I-D, II-B, III-C, IV-A
(4) I-B, II-C, III-A, IV-D
(5) Question not attempted
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16

Assertion (A) : Torque is a vector
quantity.

Reason (R) : It is characterized by
both magnitude and
direction.

(1) Both (A) & (R) are true and (R)

is right explanation of

(2) Both (A) & (R) are true,, h*ut R)

is not right explanation of (A).

(3) (A) is true, but (R) is falge.

(4) (A) is false, but (R) is true,

(5) Question not attempted

If the weight of the body equal to or
less than the maximum buoyant
force, then

(1) the body will float.

(2) the body will partially sink.

(3) the body will sink fully.

(4) the body weigh downward.

(6) Question not attemptad

The proximal attachment omeaps
brachii (long head) muscle—/

(1) Superior rim of glenuit!ﬁ'f@ﬁsa
(2) Styloid process of radius’,

(3) Olecranon process of ulna
(4) Lateral midpoint of radius
(5) Question not attempted

Assertion (A) : Skilled athletes
maximize the length of
effective moment arm for
force application.

Reason (R) : This minimizes the
effect of torque produeed by
muscles around a joint.

(1) Both (A) & (R) are true and (R)

is right explanation of (A).
(2) Both (A) & (R) are true, but (R)
is not right explanation of (A).

(8) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

(5) Question not attempted

76



64.

65.

66.

67.

68.

76

frafaian 3 & F & qigeh 58 % sz
e i § wfye i 2 ¢

(1) wa swige  (2) ofefimy =t
(3) " HR (4) ¥ 3Feias
(5) Hgiia v

WU HETHRA e B Th e
(1), wfozstas wfy

@) wraf

(3) wator

(4) Iep@ |

(5) HATTE =

v fit weew % id w aefte a2, 4=
3 71 i Y 3 e 2, szmor @
(1) fadfta Sft switem

(3) e Avft Ieirer
{ﬁ:mmﬁmwm

(5) I e

KR &% g6 %1 Fflg 3geaE e Afesa

T & dedl A gl 2

(1) ==t S

@ e =iy

@.‘azaamai’m

%@Iia’aﬁﬁm

(3), ST e |

ﬁ%mﬁaﬁamﬂmh@nmm%

27

(1) SfasEEE I
|
I
I
|

(2) afefeag
(8) twew waifE
(4) =TFEE HaEfE
(5) IFeRA ¥

17

64.

65.

66.

67.

68.

Which of the following muscle is
not involved in the extension
movement at shoulder joint ?

(1) Posterior deltoid

(2) Latissimus dorsi

(3) Teres major

(4) Anterior deltoid

(5) Question not attempted

The first metacorpophalengel joint
is an example of

(1) Condyloid joint

(2) Hinge joint

(3) Saddle joint

(4) Ball and socket joint

(5) Question not attempted

When head balances on top of the
atlas, it is pulled either forward or
backward, is example of

(1) Second class lever

(2) Third class lever

(3) First class lever

(4) First and second class lever

(5) Question not attempted

Angular orientation of a body
segment with respect to fixed line
of reference is

(1) Relative angle

(2) Absolute angle

(3) Angle of Index

(4) Reference angle

(6) Question not attempted

Which of the following is not a
hamstring muscles ?

(1) Semimembranosus

(2) Semitendinosus

(3) Rectus femoris

(4) Biceps femoris

(6) Question not attempted
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Which of the following 1is
intracapsular ligament ?

(1) Pubofemoral

(2) Ligamentum teres

(3) Ischiofemoral

(4) Iliofemoral

(5) Question not attempted

The property of a body that causes
it to endeavour to regain its
original shape once it has been
deformed is knownas 1)

(1) Stability <I

(2) Equilibrium ﬂ:

(3) Elasticity iV

(4) Neutral equilibrium ..,

(5) Question not attempted

LY

The force due to air resistance,
gravity or some other body on the
moving ball is known as
(1) Inertial force

(2) External force

(3) Impulse force

(4) Internal force

(5) Question not attemptgﬁh

=

~ At
240

Read the followings ahout:uhnulder

joint and answer the question :

I: Horizontal abduction and
horizontal adduction occur in
the transverse plane around
the vertical axis. .

II: Medial and lateral rotation
occur in the transverse plane
around the vertical axi

III : Abduction and uction
occur in the sagittal: plane
and around the frontal axis.

Select the correct answer ¢
(1) Only I and III are correct.
(2) Only I and II are correct.
(3) Only II and III are correct.
(4) Only II is correct.

(5) Question not attempted
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When spectators verbally abuse or
throw objects at an opposing
athlete or team if the intent is to
physically or  psychologically
injure the athlete then it is
considered as

(1) Aggression

(2) Violence

(3) Hostile Aggression

(4) Optimal Arousal

(6) Question not attempted

A condition in which a person has
periods of low mood and period of
high mood is called which
disorder ?

(1) Post Partum Depression

(2) Persistent Depressive Disorder
(3) Agoraphobia

(4) Bipolar Disorder

(5) Question not attempted

Which of the following is not a
factor of Cattell's 16 personality
factors ?

(1) Warmth

(2) Tension

(3) Concentration

(4) Emotional stability

(6) Question not attempted

What is the major axes of rotation
that is passing through shoulders
and hip during a jumping jack ?
(1) Frontal

(2) Transverse

(8) Vertical

(4) Sagittal

(5) Question not attempted
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77.

TB.

79.

The impact of prolonged stress on
an individual’s health is known as

(1) Alarm Reaction Stage (ARS)

(2) Resistance Stage (RS)

(3) General Adaptation Syndrome
(GAS)

(4) Exhaustion Stage (ES)

(6) Question not attempted

Who found play is closely related to
the growth of human intelligence ?

(1) Jean Piaget

(2) Alderman

(3) Ellen W.

(4) Erikson EH

(5) Question not attempted

Match terms of List-I with List-II
and select the correct option using
the code given below :

List-1 List-I1

I. Sports A. Smith, Smoll,
Competition Skhutz
Anxiety Test

II. Sports B. Martin
Anxiety Scale

II1. Sports C. Gill & Deeter
orientation
questionnaire

IV. State  Trait D. Spielberge
Anxiety
Inventory

Option :

(1) I-B, II-A, III-C, IV-D
(2) 1I-C, II-B, III-A, IV-D
(3) I-C, II-A, III-D, IV-C
(4) I-A, II-B, III-C, IV-D
(6) Question not attempted
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80. T (A) : ot fFameifasm & gu

Bll

82.

83.
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S gE wd # R wEeet @6t
Fepfera fohar o wea # |

®RU (R) : 5@ 99 1 61 3T & A |
e wmen WA R, swfE WEe
ftfeafe & fve & R geg el w
w2 |

(1) (A) 3R (R) g1 = & 3R (R), (A)
Hud et |

(2) (A) 3R (R) 21 @& & AR (R), (A)
H gt sHEn AE # |

(3) AR, TR TR |

(4) (A) e &, W(R) @i 2 |

(5) Irgwiica ww

fore® famm & g, ¥ ofk gogm =@
! Broafig g & 7

(1) foms wras

(2) FoTeh '

(3) #t.uw. fap

(4) s firew

(5) FgaRa W=

feemet s & 3w e & ofi I wiR @
Ffipnga e &, w8 fees o g 2 7
(1) FEEEE  (2) dETH Y

(3) FFWHEA Y (4) e fagra

(5) Fgwia w

Fftrm & ‘A%E TER w1 99 w6 aE

T HIFHT T R 7

(1) whifmer 3R Tere!

(2) TEAATE 3R TS
(3) wdivH froerey

(4) wEal Ioe

(5) FrgafE W=

81.

82.

83.

Assertion (A) : Experiments in
physiological psychology had
indicated that emotions can
be conditioned.

Reason (R) : When angered, an
animal may charge straight
away, but human thinks of
several ways to deal with the

situation. 'y
(1) Both (A) & (R) are true and(R)
is right explanation of (A)
(2) Both (A) & (R) are true, b )
is not right explanation of

(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
(5) Question not attempted

In who's view, the id, ego and
superego form the tripartite
structure of personality ?

(1) Sigmund Freud

(2) Clark Hull ;‘g’i“;’
(3) B.F. Skinner N
(4) Dollard Miller &N
(6) Question not attempted g

The athlete is in love with himself
and is often obsessed with his own
body is because of
(1) Narcissism
(2) Conflict in Goals
(3) Aggression
(4) Expectancy theory
(5) Question not attempted

Ty
‘Selection of successful variantﬁiin
learning is a more favnu.f\i;_}ble

version for -
(1) Trial and error {‘{E;
(2) Use and disuse
(3) Condition reflex
(4) Associative stimulus
(6) Question not attempted

o




84.

85.

86.

87.

88.

oo it e & et B, FEendt @ 84.

(1) =medt srfismon

9 us o9 Reedt faen fedt vl & | gp,

EY B TG FA F I Y ATHETA
R, 7 7 fom weR & wftnew & g
=1 e R 7

(1) FHRIEH ST

(2) THRITHF S

(3) Y[ TR

(4) T 2w T8

(5) EfE W= 26
T G ST 69 & YUY HEw e
g7

(1) .9, sHew (2) o, R dew
(3) .t (4) WU E@H

(5) FgwiE 5=

frefefen wirm # vét swfs #a 4
wqafey it fee 9Ten 8 U e v e | 87.
nmt:

i, wem i, A

iii. M3 iv. WeuH |

T HEE

(1) i, dv, i, i (2) iid, 4, i, iv
(8) i, iil, i,iv  (4) iv, ii, 1, iii |

(5) srgeiea we

w1 @ ez g8 Pom ) el -
Rt e &, 9 = #t e weaw | 88
FaR 7 I

(1) wET= (2) vafem !

(3) = (4) Fyriea |

(5) 3rwiiea W |

22

Motivation that comes from within
is known as

(1) Extrinsic motivation

(2) Intrinsic motivation

(3) A motivation

(4) Self motivation

(6) Question not attempted

When a Tennis player tries his hands
at acquiring squash skills with no
hassle are example of which kind of
Transfer of Training ?

(1) Positive transfer

(2) Negative transfer

(8) Zero transfer

(4) None of these

(5) Question not attempted

. Who was the first President of

Sports Psychology Association of
India ?

(1) M.L. Kamlesh

(2) Dr. Jitendra Mohan
(3) G.P. Thakur )
(4) H.A. Khan

(5) Question not attempted

Arrange the following pm‘:e;a
through which a group becomes a
team, in correct sequential order :

i. Storming ii. Norming
iii. Forming iv. Performing
Select the correct code :

(1) 1, iv, iii, i (2) iii, i, i, iv

(3) i1, 4, i, iv (4) iv, i, 1, il n
(5) Question not attempted

Which effect represents a release of
pent-up frustration that makes one
feel better 7 (

(1) Consensus (2) Reinforced
(3) Penalized (4) Catharsis

(6) Question not attempted
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89.

91.

92,

93.
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(2) TS WIE ArghIeion & forg CHifueH
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(4) Qe wifem & forw vwemres wEifqumm

(5) Irgeia W

WA 1 ® w faga gEn F g e
mﬁtﬂnﬂtmﬁﬁﬂftﬂn&immﬁﬂi 7
@jam@ﬁ@lﬂ

(2)’ FrEvEwHa g

(3), W T fgim

(4) Freafaois fagia

(5) Frgmied e

Pofefgrda s el srmi s am
? o =fREl # o @y @ % foe 3@
FAE7

(1) &g (2) Tog o
(B}varﬁnﬁam (4) wmIfoes e
(5). st 5

¢

AW BARY % I i sEEies
whirand 6 ‘s & s w9t # e
QU T 8 T Wit s 8 7

(1) ggépr-saw (2) me-Hfi

(3) BRE-HEET (4) Iow FgEm
(6); FRE ¥

fafm e wve e B e
mﬁﬁmmmm%&ﬂw
T R AR 7
(1) afermrgor swo
(3) TR =T

(5) Figeitd we

(2) foren =
(4) HeRHOT T

| 89. AASP stands for

I
|

— —— —— — — — . - r——

90.

a1.

92.

93.

(1) American Association Society
for Psychology

(2) Association for Applied Sport
Psychology

(3) American Association of Sports
Psychology

(4) Applied Association for Sports
Psychology

(6) Question not attempted

Which psychology theory claims that
effects of external consequences on
mternal motivation ?

(1) Humanistic Theory

(2) Need Theory

(3) Cognitive Evaluation Theory
(4) Self Determination Theory

(5) Question not attempted

Which of the following is the sum
of all the factors that cause
individuals to stay together ?

(1) Group

(2) Group Cohesion

(3) Group Dynamics

(4) Social Glue

(5) Question not attempted

During exercise intervention, the
individual behavioural processes of
1 reward myself when I exercise’
reflects

(1) Reinforcement Management
(2) Self-liberation

(3) Counter-conditioning

(4) Stimulus control

(6) Question not attempted

Focusing on strategies and
techniques for learning the various
psyvchological skills is known as :
(1) Acquisition phase

(2) Education phase

(3) Practice phase

(4) Transition phase

(5) Question not attempted




94,

95.

97.

98.

w1 g wr w1 e 1 94.
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(4) T aed fagra
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(1) wriifes o 9erd
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(3) =afae wvr
(4) srpfa

(5) FFwie e
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95.

9 L

7. An

Which theory considered Human
mind as ‘Bundle of Faculties’ ?

(1) Two Factor Theory

(2) High Road Theory

(8) Formal Discipline Theory

(4) Identical Element Theory

(5) Question not attempted

Who categorized aggression into
retaliatory and mstrumsntal
aggression ? =
(1) Cratty 1989 . '_-j
(2) Kane J.F. 1971 $*2
(3) Johnson W. 1929 1
(4) Lorenz A.R. 1920

(6) Question not attempted

6. Which of the following term is

defined as ‘a set of feelings,
ephemeral in nature, varying in
intensity and duration, and
usually involving more than one

emotion’ ? (N
(1) Fear (2) Love :8
(3) Anxiety (4) Mood "
(5) Question not attempted
inherent behavioural
disposition that makes an

individual to perceive a non
dangerous situation threatening is
(1) State anxiety

(2) Trait anxiety g
(3) Competitive anxiety "
(4) All of these B
(5) Question not attempted
"
From which of the followings term
Hippocrate's initially explained
personality ?
(1) Body fluids (2) Body type
(3) Personal trait (4) Cognition
(5) Question not attempted
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(3) BT= g wyATEE
(4) frm @ S
(5) rgeiia W
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l

99. In the two sets given below, Set-I

100.

indicates

dominant personality

traits, while Set-II provides the
association with sports/choice of
sports. Match the two sets and
indicate your answer by choosing

from the code :
Set-1 Set-11

I. Less (i) Combative &
dependent, Dual sports,
anxious & Fencing
introverts

II. Lesser (ii) Adventurous
emotional sports, Motor
stability, Races, Skiing
Extrovert &
Confident

ITII. Dominant (iii)Team games
& thorough  (body
minded contact),

Football

IV. Practical, (iv)Individual
super-ego Sports,
strength, Athletics
self-concept

Code:
1 HIYaY

(1) (v) (i) 1) ()

(2) Gv) () (i) (1)

(3) () Gv) G ()

(4) () Gv) (1) (i)

(5) Question not attempted

From the following which is not a

tool for the measurement of

attitudes towards sports through

questionnaires ?

(1) Makethan
inventory

(2) Children's attitudes towards
physical activity

(3) Student's attitudes questionnaire

(4) Wear attitude scale

(5) Question not attempted

student attitude




101. 9 few o 2 &2 #§ frzree 3 amon = % | 101, In the two sets given below Gestalt
wrfam . proposed laws to form perception,
1.%“1 T, -1 S Set-I indicates the understanding of
¥ e & rafEs fe-I1 awon w9 5T perception while Set-II provides the
wear | 2F1 el w1 e W sl we A | form of perception. Match the two
T AT I FAT sets and indicate your answer by
choosing from the code :
Ty -1 el Set-I Set-II
L s A A @ W I. T;:ﬂ togroup (i) Simplicity
H{f&ﬂ similar patterns
g i together in a
oy Tab perceptual field.
1. segd, " TH-g@ & (i) F II. Object, which are (ii) Closer
0w o ¥ w wY closer to each,
tend to be
wfipa g # | grouped together.
TI1. 3ot Feommed 8 sfeue (i) Fere I11. Tend to fill the  (iii) Proximity
gaps in in-
ﬂﬁ'ﬁg‘gﬁrﬂ?{i : complete
V. U e sieamed wfeme (i) Soma stimuli.
B R i e b IV. Organize a (iv) Similarity
SR complex stimulus
?, w4 | patterns into its
Ctgﬁ! : simplest
) components.
I II III IV Code s
(1) Gv) (i) @) @) I ‘I ey
(2) (v) (i) @ () (1) Gv) Gi) @ @
o s NG (2) Gv) () @) ()
@ abm e @) Gi) @ @ 6
(4) (i) Gi) Gv) @) (4) (i) () (Gv) @
(5) FIaiE ¥ (5) Question not attempted
Ty . .
102.In G dynamics, one of the
lﬁm i #, zeiet % wiffwo § § aExdieﬁ:%z cla}:;fi.ﬁﬁ&tian in hw'i;:ﬁl;
t the team who
gw &m % wae S e o 2w ¥ o wiin?:ﬂhgrsegfur;ance and act as
oy TR o T B T A &, I P & | audience is known as
. (1) Inter-actors
(1) Fm-FfFa  (2) FEH i (2) Supportive audience
" (8) Neutral audience
(3) TEUTH®  (4) WE-IAPEA | (4) Co-actors
(5) aaaﬁa W ! (6) Question not attempted



103.

104.

105.
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(1) T 3R Fat=ae

(2) g1 3R HEfEE

(3) wEEm 7 fwfor wa weare

(4) ISR FHBT FT IR IF TS
w1 faverso e |

(5) FwE ¥

(2) Fg

(4) 99&A

Fr fog e g @ F | -1 Jon & T H
aitar & st eIl @« § w1 % i
wfirenfamt wem e | 3 48 w1 e
AR HIE H | YA AT IeR A

-1 -1
I 3f (i) e @ §=T
I wamfsionr  G6) ffe ged
TI1. wmferes Srom (i) wfeveat
V.3 % &9 ¥ (iv) TR

Tt g

T

1 II III IV
(V) @ @) i) @)
(2 (@ @) @Gv) (i)
(8) () () (D) @v)
(4 @) @) Gv) @
(5) FgvIiE
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103.

104.

105.

The formulation of a financial plan
in terms of work to be
accomplished and services to be
performed is known as

(1) Organising (N
(2) Leading N
(3) Controlling (F%
(4) Budgeting N
(5) Question not attempted d?

Any decision we make consists of
two basic steps :

(1) Planning and execution

(2) Information and execution

(3) Building Cooperation and
Evaluation

(4) Gather information
Analysing that information, ,

(6) Question not attempted  p3

In the two sets given below, %1
indicates level of motivation while
Set-II provides the expressions
operating in Sports. Match the two
sets and indicate your answer by
choosing from the code :

Set-1 Set-I1
I. Biological (1) Will to. fim
motivation Eﬁ
II. Psychological (i) Neurotig,
motivation confliat. 3
ITI. Social (iii) Competition
motivation ¥y
IV. Secondary (iv) Reward
reinforcement
as motivation
Code:
I "I IV

(1) @) @) @) (v)
(2) () G (Gv) (1)
@ @ @ @) (v)
(4) @) () Gv) @
(6) Question not attempted




106.

107.

108.

109.

110.

wiftres we andifers Tepfa & o & =S
et ! FE TR

106.

107.

108.

109.

(1) wresples Faue

(2) T

(8) g wpia

(4) Tava sl

(5) a9

frfefan & & 8 @ wevw &1 & T
AT AT R 7

(1) it (2) wHF

(3) gfew (4) wETET

(5) FAFwE oA

‘s 1 31 QEAHE ST, AT
a1, T9Sd Hen 3R e s
2" q &g 3 wave w1 e afonfya fean e ¢
(1) S FE (2 W

(3) drex farg (4) TH.TH. T

(5) FATE 59

ET o TER O & fore wed e @
= 43 owel & T W=
e -y fasfaa T 7

(1) &t (2) wen-Taa

(8) wTEE (4) Hfen

(5) FAToEa I

T ety i L N
st § e w0 ¥ forg amew s |
WITHTEA 21 =R, 7

(1) = (2) s

(3) T TURT (4) TiIEH

(5) gy

The vast difference between the
material and non material culture
is known as

(1) Cultural lag

(2) Quality

(3) National culture

(4) World culture

(5) Question not attempted

Which of the following is not
considered to be the scope of sports
management 7 N
(1) Personnel :
(2) Programme

(3) Facility

(4) Administration

(5) Question not attempted

Who has defined Management as
“To manage is to forecast, to plan,
to organize, to coordinate and to
control” ? '
(1) George R. Terry

(2) Henry Fayol

(3) Peter Smith 3
(4) F.M. Taylor E
(5) Question not attempted 1

In public relations, the most
important to attaining publicity is
developing a good working
relationship with the members of

which of the following ?

(1) Audience

(2) Parents

(3) Administrator 5 o
(4) Media L
(5) Question not attempted G
Who should encourage a.:;,d

reinforce staff to be self-sufficient
and to take initiative with
projects ?

(1) Principal

(2) Manager

(3) Staff incharge

(4) Supervisor

(6) Question not attempted
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111. geft-1 &t g=-11 & ar gofera $Hifdie a9t | 111, Match List-1 with List-II and choose
el famey &1 =2 Fifsw the correct option :
List-I List-11
-1 I (I0C Presidents) (Years)
(IOC reaw) () I. Sir Dorabji a. 1927 - 1928
Tata
I SRS 2R 1927 - 1928
5 ! 1L Vidya Charan b. 1975— 1980
., L Rerswrge b 1975-1980 Shukla
o7y I Amywdes c. 1984 - 1987 III.Om  Prakash c. 1984 — 1987
¢.) Mehra
Ny V-SWEEE  d 1996-2011 | [y gyrogh Kalmadi d. 19962011
LoES I Code:
T D 0 1 1
b, ST | () ¢ a d b
(1) e a d b I (2 ¢ a b d
(2) e a b d Ba e B d
®a e b d 4 a ¢ d b
gy 4 g.od B (5) Question not attempted
(5) Jrgaa 5 112. Which: of the following pre-event

allotment factors is not to be

IT?- el @ 392 % "aTeM & fore Frafatea | considered for the conduct of an
-, # A E fi-3ae A wRe W faam sporting event ?

) 'ﬁ;q[qﬁ]a]ﬁq 7 (1) Does the institution is capable
- » A of organizing competition ?
N 1) &H;? et Fa A (2) Competition Arena availability.

(3) History of organizing such type
of event in past.

(4) Working on the planning of
various committees.

(5) Question not attempted

(2) wierafrer somor 6t S

(3) Frdfta @ o0 YR & A %1 3o
(4) Tafir= afafagt 6 99 wsm s
(5) FwiE ¥

113. From the following, which is not
the part of management’s “Classical

——_,——— ——— e e = mm e TmmE TEe mi- EEwTEmE T Eomoms

lmﬁﬂmﬂﬁﬁﬁ?mmﬁ; ‘FerTfEEh School” ?
Lo e w R (1) The Scientific Management
- School
In D WWW (2) The Management Process
(o (2) e wiER e School
3) mm@ (3) The  Bureaucracy Theory
School
(4) Treem @ =pw (4) The System Theory School
(5) Irgmica weA (5) Question not attempted
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114. 19 3 wua 2 7@ & S99-(A) s % 114. There are two statements given

115.

116.

T 0 FA (R) :

|

YT (A) : 2, Iuw, 5ufs, feemt i

e =1 afts sifts wemm ot
Hrefén womett = e 2 |

% (R) : AT Faet AAais &9 3 & H
ST R |

39 SHI F9 (A 791 R) & g ° wdt

fapen =1 597 ifo |

fame -

(1) %ae (A)adl 2, (R) Tea 2 |

(2) %9 (R) W8l &, (A) T R |

(3) (A) 791 (R) a1 &l & a1 (R), (A)
=1 Fet AT H |

(4) (A) 7ar (R) gHi w&t & a1 (R), {A)
=1 wE ST AE ¢

(5) IralE W

8 -2 TerEE i Fm I 2 7
(1) 2 wEEE

(2) QUETETS T@TEE

(3) TR TEETE

(4) I TEwEE

(5) mgﬂﬂam

fefafendd s arsrms & e w
wEeA 1 g i s g 2

(1) afts wafim s

(2) Ifey dalyE SRS

(3) WTSATHH HH

(4) AP S TR

(5) FFTNE 994

|
|
|
l
|
|

|
i
1
1

i
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116.

below one is labelled as Assertion

(A) and second is labelled as

Reason (R) :

Assertion (A)
physical ver:ﬁcatmn <E;?!:li:he,-
stores, equipment,
fixture etc. is also pﬂé gf the
auditing system.

Reason (R) : The aud:tmmdona
internally only.

Select the correct option in the

above statements.

Option :

(1) Only (A) is right, but (R) is
false.

(2) Only (R) is right, but (A) is
false.

(3) (A) and (R) both are right and
(R) is correct exp ion of
(A). i‘ 3

(4) (A) and (R) both are nﬁ.}: and
(R) is not correct explanation of
(A).

(5) Question not attempted

5. Which is also known as breakdown

maintenance ?

(1) Routine maintenance

(2) Corrective maintenance
(3) Emergency mﬂ.mtanan&!}
(4) Predective mamt«enﬂnca
(5) Question not attempted 2

6. Which of the following !{.l?nt a
factor upon which span of
management depends ?

(1) Superior related factors

(2) Subordinate related factors
(3) Organizational factors

(4) Levels of authority

(5) Question not attempted
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117. Fr=ifetias =1 ud 3k yw3 &1 3w

(D) IR wdE
@) TR AR e E |

118, g=ft-1 %t gi-11 % gy giferm Hifiw aun
et fyseq =1 597 e
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s ?
fawey !
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I Ig SR 3= gl wefEl W
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(3) FaA 1 wdR |
(4) Faa I Ed R |
(5) Irgmiia w¥
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1. T v v &t A yEy SivA
0 # &Har IR

A
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w0 |
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II1. The ability to

IV. Certain

117. Read the following and answer the

question :

I: An operating budget is a
statement of the anticipated
levels of revenue for a period of
time, and how the revenue will

be spent.
II: A capital budget refers to
spending on buildings,

facilities and equipment, and
other tangible assets.

Select the correct answer :

(1) Both I and II are correct.

(2) Both I and II are incorrect.

(3) Only I is correct.

(4) Only II is correct.

(5) Question not attempted

118. Match List-I with List-II and select

correct option :
List-I List-I1
The ability and A. Management
experience deed Skill
to performe a
particular job.
. The skill we use B. Interpersonal
every day when gkill
we communicate
and interact
with other
people.
C. Conceptual
develop solution akill
regarding high
level theories,
ideas and topics.
D. Technical
attributes or skill
ability that an
executive should
possess in order
" to fulfil specific
task in an
organization.
Option :
(1) I.D, II-B, II -C, IV-A
(2) I.D, II-C, III-A, IV-B
(3) I-A, II-B, III-C, IV-D
(4) IA HB II1-D, IV-C
(5) Question not attempted
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120.

121.

sponsorships cash exchange is
rarely involved ?

(1) In-kind (2) Over the top
Ea Hospitality (4) Volunteer

5) Question not attempted

Given below are two statements,
the first labelled as Assertion(A)
and the other labelled as Reason
(R). Indicate your answer using the
codes given below :

Assertion (A) The Sport
industry is comprised of the
state or public sector, the non-
profit or voluntary sector, and
the professional or commercial
sector.

Reason (R) : All these sectors of
sport industry operates in
isolation.

Codes :

(1) Both (A) and (R) are true and

(R) is the correct explanation of

A).
(2) {Eo}th (A) and (R) are true but

(If{)[ jf)mt the correct explanation

o .

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

(6) Question not attempted

Read the followings and answer

the question :

I: Organizational structure is the
framework that outlines how
tasks are divided, grouped and
coordinated within an
organization.

Il : An organization structure
defines where staff and
volunteers ‘fit in’ with each

other in terms of work tasks,
decision-making rocedures,
the need for cﬂﬁﬂbnratinn,
levels of responsibility and
reporting mechanisms,

Select the correct answer :

(1) Both I and II are correct.

(2) Both I and II are incorrect.

(3) Only I is correct.

(4) Only II is correct.

(5) Question not attempted
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122.

[ 123,

124.

Which of the following is not a
fundamental principle of
supervision ?

(1) Supervision is directed towards
improvement of learning and
teaching situation.

(2) Supervision offers assistance
to all. 0

(3) Supervision seeks aviéqpce
regarding the results cand
values of change. o™

(4) Supervision is inflexible. -

(6) Question not attempted

Read the followings about budget
and answer the question :

I: Budget is prepared at micro
(Unit/Section) level and macro
(organization/departmental)
level. Ty
Budget is a financial pldnlin
terms of work to ““be
accomplished and service &;be
performed. o
Select the correct answer :

(1) Both I and II are correct.

(2) Both I and II are incorrect.
(3) Only I is correct.

(4) Only II is correct.

(5) Question not attempted

II:

Which of the following is not-an

element of planning ?

(1) What will be done "

(2) What resources will (s ybe
required vy

(3) How it will be done

(4) Rapid change in technology

(5) Question not attempted
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128.
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125. Who

() FTE ¥

stage the event, meet
facility and equipment needs, and
provide any operational items for
the event ?

(1) Tournament operations staff
(2) Volunteer management staff
(3) Event marketing staff

(4) Integrated staff

(5) Question not attempted

LS

. The touring of star athletes a.ﬁd'

teams to promote the popularity qf
a particular sport in Eve,_}l‘é
Management is known as '

(1) Barnstorming tours

(2) Sponsorship tours

(3) Sports tours

(4) McCormack tours

(5) Question not attempted

l‘l

. In budget planning, past budgets

and plans also play a mgmﬁsahf
role and serve as a : 0

(1) Controlling o
(2) Technological development
(3) Solid reference point

(4) Potential modification in
approval

(5) Question not attempted

'311-5&55 ey feamam w1 e e I 128. Who is said to be the “Father of

o e & P vaua % 14 fygm e d 7
(1) = T FR

(2) &l Haw
(8) et far
(4) .G W
(5) e W

— ———

Modern Management Idenlo%"
who have given 14 principles ..qE
Management ? 0
(1) Charles A. Bucher

(2) Henry Fayol

(3) Peter Smith

(4) M.N. Bash

(5) Question not attempted

76



129, 37wy yém w1 o w1 S
g7

(1) 2wfom (2) wH.TH. gEH
(8) demE gEWm  (4) TP Hd
(5) et v

130. e & forg freda et sl sfergite
W) wifey firmz it e % forg Ryl o § -
,'35 (1) 2@ 6T P

{2} 849 21 ¥4 $re
m (3) 409 85 w7 Fiz
(4) 100¥® 120 99 e

(5) Frgeita wed

131, B« FENE vEAv % fyerg § sgamnh
wufrdi @1 3ga gor o we o &
(1) i wet
(2) BF wa=H
U (8) @ Em
,3+ (4) i
jl . (6) e v
132 FIBA %1 qeame ‘5 ifes wiow w134 a1
aeheate aef fRa R :
(1) Pt
@) Y=
Tg (3) umeREH
d (4) famm
r-" (5) S T

|
|
I
|
I
1mmam%m$ﬂaﬁmf
I
I
I
|

it w1 H T FE IR 7
(1) T
8) s

(6) Fgafa W=

(2) wey
(4) W

76 35

129,

130.

131,

132.

13

Scientific Management movement
is also referred as :

(1) Taylorism

(2) S.M. Movement

(3) Landmark Movement

(4) National Movement

(5) Question not attempted

In fitness center, for ventilation
the recommendations range for
fresh air/minute per occupant is
(1) 2 to 6 cubic feet

(2) 8 to 21 cubic feet

(3) 40 to 85 cubic feet

(4) 100 to 120 cubic feet

(5) Question not attempted

The growth of Sport event
management led to the emergence
of multifaceted companies called
(1) Sports Company

(2) Sport Management

(3) Industry of Sports

(4) Management of Sports

(5) Question not attempted

FIBA's headquarters ‘The Patrick
Baumann House of Basketball’ is
located at

(1) Mies

(2) Paris

(3) Amsterdam

(4) Viana

(6) Question not attempted

3. In functional area of management

process, the leading function has
often been referred to as :

(1) Planning

(2) Goal

(8) Action

(4) Objectives

(5) Question not attempted
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134. Comparing the abilities of Basket-
ballers and Volley-ballers of a
college on the basis of two samples
drawn from them comes under :
(1) Descriptive process
(2) Relationship process
(3) Inferential process
(4) Comparative process
(5) Question not attempted

Source of data in research in which
an author has evaluated and
summarized previous research is

135.

known as :
(1) Immediate (2) Primary
(3) Private (4) Secondary

(5) Question not attempted

1386. A formal preparation that includes
the introduction, review of
literature and proposed method for
conducting a study is known as

(1) Research methods

(2) Finding of study

(3) Research proposal

(4) Discussion

(5) Question not attempted

Who has defined Research as :
“Research comprises defining and
redefining problems, formulating
hypothesis or suggested solutions;
collecting, organising and
evaluating data; making
deductions and reaching
conclusions and at last carefully
testing the conclusions to
determine whether they fit the
formulating hypothesis.”

(1) Clark and Clark

(2) L.B. Redmen

(3) Clifford Woody

(4) Mory

(5) Question not attempted

137.
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138. Design used in the experimental

139.

140,

141.

142,

research in which groups are
randomly formed and that controls
most source of invalidity is known
as Lr\-]
(1) Random Experimental desigm
(2) Pre experimental design (.3
(3) False experimental design M)
(4) True experimental design
(5) Question not attempted €N

When subjects of an experimental
study attempt to change or
improve their behaviour simply
because they are being observed or
singled out for special treatment,

this is known as o
(1) Applied Effect o
(2) Kahn Effect (%
(8) Stephen Curry Effect N
(4) Hawthorne Effect i+

(6) Question not attempted ¢

The statistical constants which are
used to define the nature of
population

(1) Attributes (2) Variables
(3) Parameters (4) Units

(6) Question not attempted

Limits of multiple correlation ik
(1) =1 to +1 (2) 0to+1 ©D
(8) -8 to+3 (4) +1 to+3

(56) Question not attempted N

The method of controlling a theddt
to internal walidity in which
neither the participant nor the
experimenter knows which
treatment the participant is
receiving, is known as

(1) Control setting

(2) Placebo

(3) Blind Setup

(4) Double Blind Setup

(5) Question not attempted
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143.

144.

145.

In which of the following
experimental design the
equivalence of the experimental
and control groups is provided by
random assignment of subjects to
experimental and control
treatment ?

(1) True-experimental design

(2) Pre-experimental design
(3) Quasi-experimental design’ '’
(4) Control experimental desigh.
(5) Question not attempted I'J

Read the statement relatadiﬁo
testing of hypothesis and answer

the question :
Statement — I : Type 1 error
means accepting of

hypothesis which should have
been accepted.

Statement - II : Type II error
meane rejection of hypothegis
which should have begn
rejected. (a0

Select the correct answer : )

(1) Both I and II are correct. L.

(2) Both I and II are incorrect. ()

(3) Only I is correct.

(4) Only II is correct.

(5) Question not attempted

Arrange the following steps of
defining the research problem in a
sequence from first to last :
i. developing the ideas through
discussions; .
ii. understanding the nature
problem;
iii, surveying
literature; :
iv. statement of the problem i
general way; :

the avaﬂa:@g

v. rephrasing  the research
problem into a working
proposition;

Select the correct code :

(1) ii, v, i, iil, iv (2) ii, iv, i, 3i, v
(8) iv, ii, iii, v,i (4) iv, ii, il 1, v
(5) Question not attempted
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146.

14?i

148,

149,

150.

There are some statement given

below regarding independence

variable. Select the correct option.

I. Tt is also called cause variable.

II. It is also called Influencing
variable.

ITI. It is also called effect variable.

Option :

(1) Only I & 11

(2) Only I & III

(3) Only II & III

(4) Only 1

(5) Question not attempted

The variable that is systematically
manipulated by the investigator is
known as

(1) Dependent variable

(2) Control variable

(3) Independent variable

(4) Experimental variable

(5) Question not attempted

Which of the following is not a

property of Normal Probability

Curve ?

(1) It's 95% area comes under
+ 2,48 SD,

(2) It is Mesokurtic.

(8) It's value of Skewness is Zero.

(4) It is a bell-shaped curve.

(5) Question not attempted

The degree of freedom (df) in the
Chi Square test calculated by :

(1) r=1(c-1) ) (r+1)(c-1)
(B (r=1)(c+1) @ +De+1
(5) Question not attempted

The area between —1 Standard
Deviation to +2 Standard
Deviation in Normal Curve is

(1) 68.26 (2) 81.85

(3) 82.87 (4) 95.26

(5) Question not attempted
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